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BCM/M-23 14010

BUSINESS STATISTICS
Paper-BC-204

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one and
not more than fwo questions from each unit.

All questions carry equal marks.

AT : TOF THE W HA-U HY Teh I Ahad a G971 1
I H gY, w fHemw fml urer go #1 IW T
gt gel &% ofh TuH ®|

UNIT-I (3eh1E-1)
1. What do you mean by Primary Data? What are the various
methods of collecting Primary data with their merits and
demerits? (16)

Wt Sffhgl W S N WHIW B2 WHHe ISl i
el & &1 fafa= fafel &1 37 o @ sEen
gfed guie &l

2. (a) What are the properties of an ideal average? (6)

Th TSy I & AEvIR U HHA-T §?

14010/600/KD/80 [P.T.O.
13/7



(b)  Find the missing frequency in the following distribution
if N =100 and M = 30 : (10)
e N =100 3R M =308 @ fm famor & o«
S AT T@ A

Marks No. of Students
0-10 10
10-20 ?
20-30 25
30-40 30
40-50 ?
50-60 10

3. Following table gives the index number of security prices of
Joint Stock Company pertaining to shares and debentures :

e e TRl iR fes=)i & Hefua 9ea =ik e
HT T KAl HT GARIF TS I T

Share Price Index Debenture Price Index
73.2 97.8
85.8 99.2
78.9 08.8
75.8 98.3
77.2 98.3
81.2 96.7
93.8 97.1
Find Rank Correlation Coefficient. (16)

i HEEsY O T Ul AT
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4. You are given the following data about sales and

advertisement expenditure of a firm :

et fordl wd w1 fawl iR fogaw == & ar o
frefafen efiwe feg o ® -

Sales Adv. Expenditure
(Rs. Crore) (Rs. Crore)
AM. 50 10
S.D. 10 2

Coefficient of Correlation ('r') = 0.8.

HE-YaY 1 0TH (‘') = 0.8.

(i)  Calculate two Regression Equations.
T gfaed THRTON R UM B

(i) Estimate Sales, when advertisement expenditure is
Rs. 13.5 crore.
It o W 13.5 wUg T T4 fww A @ fasnt
FT SFTHE M| (16)

(iii) What should be advertisement budget if the company

wants to achieve a sales target of Rs. 70 crore? (16)

IfE HEA 70 HAS HI ol 1 AT Y HAT
IEdt ® qf fagrs a5e F ' =iee?
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UNIT-II (3ehTE-1I)
5.  Define Index Number. Explain the importance and limitations

of Index numbers. (16)

YT i TRAWN IS YAhIh] 1 TEed o HHTSA FI
ol HIfST

6. Construct cost of living index number from the following
data for 1986 using
(i) Family Budget Method.
(i) Aggregative Expenditure Method.

1986 & ST & foau ffafed omeR wmeft | fafe=
fafeei &1 w@W #@ gL Stad frafe gawis w1 T0m
FifoT-

(i) IR aste fafyl

(i) Tha a7 fafy

Items Quantity Unit Prices
Consumed in 1985

1985 1986
Wheat 4 Qtls Kg 1.50 1.60
Rice 50 kg Qtls. 800 1000
Cloth 40 Metre Metre 20 25
Oil 20 Litres Litre 1.80 2
House Rent One House House 100 125

(16)
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7. Calculate seasonal indices for each quarter from the following

percentage of wholesale prices to their moving averages :
oA Tl & frefafed gfaed @ o 9 =t oied
% Te foael & fau @ gl w1 o

Year Quarters

I I I v
2000 — — 85.71 90.25
2001 128.12 91.71 96.10 103.90
2002 112.33 | 100.35 78.13 97.88
2003 105.26 | 103.50 — —

(16)

UNIT-III (3ehT2-III)
8. (a) State and prove Baye's Theorem of probability. (8)

Tifehdl 1 999 THT @ 22 38 fag it
(b) Discuss the properties of Normal Distribution. (8)

T foawor &) faeioaet 1 v sifsu

9. (a) Find the probability of 3 successes in a binomial
distribution whose mean and variance are respectively
2 and 3/2. (8)

T fgug faaor § 3 gwddetl st T9EA 9 R
TS siga ek faeror #aem: 2 3R 372 @)
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(b) Itis given that 3% of the electric bulbs manufactured
by a company are defective. Using the Poisson
distribution, find the probability that a sample of
100 bulbs will contain

(1) no defective.

(ii) exactly one defective. (Given : 73 =0.0499) (8)
7g e T @ fo e s gw fafda fosedt &
3% s ogel €1 Afk 100 Sod H Tw g e
S @ ieEd foaer &1 ST #d gU, T gurE
#I g2 T

() g ool T

(i) 3% TH YUl (Given : e = 0.0499)

10. The marks obtained by the students in an examination
are known to be normally distributed. If 10% of the students
got less than 40 marks while 15% got over 80, what are the

mean and standard deviation of marks? (16)

TH T0en § Al N U 3Tl bl AW €9 4§ faaka
feran ST 21 A% 10% BET H 40 § wH ek foed wefw
15% BE H 80 & eifu faet ef @ fRl = ofi|a iR
e faeem 22
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